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 EP 55 2 C 100 A  A AE..  P..

55
75
90
120
155

1
2

C 3 -  100 A
T

A
T
Q

Vedi tabelle
See tables
Siehe Tab.

Vedi tabelle
See tables
Siehe Tab.
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2.3   Selection

The se lec tion of plan e tary gear boxes EP
se ries has to be made af ter the check ing of 
ser vice fac tor. For in ter mit tent or con tin u -
ous duty it is nec es sary to ap ply the fol low -
ing for mu las:
1) In ter mit tent duty:

Tm * i * RD * fc £ T2N

2) Continuos duty:
Tm * i * RD * fc / 0.65 £ T2N

where:
Tm = nominal torque of motor (Nm)
i     = transmission ratio of gearbox
RD  = dynamic efficiency
fc   = cycle factor (see table)

For ap pli ca tion with op er a tion cy cles
based on fre quent ac cel er a tions it is nec -
es sary to ver ify that max ac cel er a tion
torque is equal or in fe rior to the T2A value
shown in the ta bles.

Cicli/ora - cycle/h - Zyklen/h £1000 1000/2000 2000/3000

fc 1 1.2/1.5 1.5/2

2.3   Getriebeauswahl

Bei der Auswahl der Planetengetriebe EP
muß berücksichtigt werden, ob diese im
Aussetzbetrieb oder im Dauerbetrieb
eingesetzt werden:

1) Aussetzbetrieb:
 Tm * i * RD * fc £ T2N

2) Dauerbetrieb:
           Tm * i * RD * fc / 0.65 £ T2N

wobei:
Tm= Nennmoment des Motors (Nm)
I    = Untersetzungsverhältnis
RD = Dynamischer Wirkungsgrad
fc   = Zyklusfaktor (s. Tabelle)

2.3   Selezione

La se le zio ne dei ri dut to ri epi ci clo i da li EP
deve es se re ef fet tua ta va lu tan do se il ser -
vi zio è in ter mit ten te o con ti nuo ve ri fi can do
le seguenti relazioni.

1) Per servizio intermittente: 
Tm * i * RD * fc £ T2N

2) Per servizio continuo: 
Tm * i * RD * fc / 0.65 £ T2N

dove:
Tm = coppia nominale del motore (Nm)
i     = rapporto di trasmissione del riduttore
RD = rendimento dinamico
fc  = fattore ciclo (vedi tabella)

Bei Anwen dun gen mit häu fi gen Beschle u -
ni gun gen muß si cher ge stellt wer den, daß
das ma xi ma le Beschle u ni gungsmo ment
nicht hö her ist als die in der Ta bel le auf -
geführten Wer te T2A.

Nel le ap pli ca zio ni dove sono pre vi sti ci cli di 
fun zio na men to ca rat te riz za ti da fre quen ti
ac ce le ra zio ni è ne ces sa rio ve ri fi ca re che
la cop pia mas si ma di ac ce le ra zio ne sia
ugua le o in fe rio re al va lo re di T2A  indicato
nelle tabelle.

2.4   Gioco angolare (a max) 2.4   Backlash (a max) 2.4   Spiel (a max)

2.2   Designation 2.2   Bezeichnung2.2   Designazione

Max. back lash mea sured on out put shaft 
by torque equals to 2% of the nom i nal
torque  value with in put shaft blocked.

Maximales Spiel [arcmin], gemessen an
der Abtriebswelle bei blockierter
Eingangswelle mit 2% des Nennmoments.

Gio co mas si mo [ar cmin] mi su ra to sul l’al be -
ro usci ta, con al be ro en tra ta bloc ca to ap pli -
can do una cop pia pari al 2% del la cop pia
no mi na le.

EP


